START A NEW BOOKIET

12 Excterision 1 Trigonometty, Inverse functions & Inverse Trigonometric Functions
Term 21, 2011 | Week 6 Time Allowed- 50 mins Marks: 36
Show all working to gain maximuny marks
Matks will be deducted fot poorly presented or illegible work
Question 1 (12 marks) Start 2 new booklet Marked by GHW
(a) Find in terms of 7 the value of the expression
1 1
-1 fonl
€os™ (—=)—sin" (—— 2
( 2) ( 2 (2]
(b)  Find | b 2]
Vi-x"
dx
d | —— 2
© ] 9+25x 2]
(d) Find the gradient function of y=cos ' cosx [2]
(e) For f(x)=x"+2x
@ State the domain of f(x) = x* +2x which resiricts it to a monotonic
increasing curve - [2]
(i)  Find the function, f™'(x) and sketch it 2]
START A NEW BOOKTET
Question 2 (13 marks) Marked by RDS
1- sin(%— 20)
a Show —=— —=tand 3
® sin 26 [ ]
(b)  Find the exact value of cos (1—7;—) [3]
(c)  Find j cos” x +———dx 3]
cos” x
(d)  Find the general solution of: /3 sinx— cosx = NG [4]

Question 3 (11 marks) Marked by HRK

+1 .
(a) A function is given by the rule f(x) = x_+3 Find the rule for the
X .

®)

©

@

inverse fimction f7(x). . 2]
()  Sketch the graph of y=4sin™ (g). 2]
(i)  Find the exact equation of the tangent to the curve
y =4sin™ (izc—) at the péint where x=1. [31
Find the first derivative of (co s 7x)5 [2]
Find a,,i[e““‘_l lees2211 in its simplest form. C [Ei?
. X (73 S
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